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Ex.1 :  

       (i)

D C9 cm

15 cm B
A

(ii)

(iii) 

5 cm BA

5 cm CD

(iv)

6 cm BA

CD

Sol.  (i) ABCD 

   = AB + BC + CD + DA   
   = 15 cm + 7 cm + 9 cm + 12 cm = 43 cm 

  (ii) ABC 

   = AB + BC + CA 
   = 8 cm + 10 cm + 6 cm = 24 cm 

 (iii) 

   = 4 × 

   = 4 × 5 cm = 20 cm. 

 (iv) 

   = 2 (  + ) 

   = 2 (6 cm + 5 cm)  
   = 22 cm.   

Ex.2
? 

1cm 1cm

Sol.  A  8 cm 
= 4 × 8 cm = 32 cm.     

 B 
 1 cm 

 = 8 cm + 8 cm + (8 cm + 1 cm + 1 cm + 1 cm  
       + 1 cm) + 8 cm = 36 cm. 

 B  A 

 :

Ex.3
6 m 

3 m 
6 m 275 

.  
Sol.

(6 m) 

= 6 m + 3 m + 3 m  
   = 12 m 

 275 
  = 275 × 12  
  = 3300. 
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  :  ABCD 
 ‘x’ 

B C
x

x

A D

 (i)  = x × x = x2 2

 (ii)  = 2x

 = x 

 (iii)  (AC = BD) = 22 DCBC 

   = 22 xx   = 2x2  = 2x



 PQRS 
l  b 

 (i)  = (l × b) 2

 (ii) 

    = 

 (iii) 

    = 

 (iv)  (PR = SQ)  

    = 2222 bRQPQ  l



 1. 1 cm2 = 10 mm × 10 mm = 100 mm2

 2. 1 m2 = 100 cm × 100 cm = 10,000 cm2 

  1  = 100 m2

  1  = 10,000 m2 

 

Ex.4
 500 m  300 m 

(i) 

  (ii) 

  (iii)  1 m2 1000 

Sol.

 (l) = 500 m 

 (b) = 300 m 

  (i)  = 2 (l + b) 

             = 2 (500 + 300) m  

       = 2 × 800 m 

   = 1600 m 

  (ii)  = l × b 

       = (500 × 300) m2 

= 150000 m2

  (iii)  1 m2  = 1000 

 150000 m2

   = 1000 × 150000  

   = 150000000 

Ex.5
 10.5 cm  7.5 dm 

Sol.  (l) = 10.5 cm 

 (b)  

  = 7.5 dm = (7.5 × 10) cm = 75 cm 

 = l × b 
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       = (10.5 × 75) cm2

            = 787.5 cm2.   

Ex.6 100 cm 
 35 cm , 

Sol.  (l) = 35 cm.   

 (b) = ? 

 = 100 cm. 

 = 2(l + b) 

    100 = 2[35 + b] 

    100 ÷ 2 = 35 + b 

    50 = 35 + b 

    50 – 35 = b 

    15 = b 

 (b) = 15 cm. 

 = l × b 

       = 35 × 15 cm2

       = 525 cm2.  

Ex.7
320 m 

Sol.

 = 4 × 

320 m = 4 × 

     320 ÷ 4 = 

         80 m = 

 = 80 m 

 =  × 

          = 80 m × 80 m 

 = 6400 m2 

Ex.8

60 m  90 m 
, 

Sol.  = 60 m 

=  × 

  = 60 m × 60 m = 3600 m2

 (l) = 90 m 

 (b) = ?  

   =  ( ) 

l × b = 3600 

90 × b = 3600 

          b = 3600 ÷ 90 

          b = 40 m 

 = 40 m.  

Ex.9  2 m  1 m 
 4.5 m 

3.6 m 
20 

 m2

Sol.

 = (2 × 1) m2 = 2 m2

 = (4.5 × 3.6) m2

  = 16.2 m2

 = (16.2 – 2) m2
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 = 14.2 m2 

  =  ×  m2

= (14.2 × 20) = 284 

Ex.10 40 
2000 80 

100 m2

Sol.  = 2000 

 = 






100
40

         =
5
2

 = 

  = m000,5
2

52000m
5/2

2000





  = m
4

5000 = 1250 m 

 = (1,250 × 1,250) m2

          = 15,62,500 m2

  100 m2 = 






100
80  = 

5
4

  1 m2 = 





 

100
1

5
4

  15,62,500 m2

  = 





  1562500

100
1

5
4  = 12,500.     

Ex.11 5 : 4 
 8,000 m2

3.50 

Sol.
5x  4x 

 = l × b 

 5x × 4x = 8000 

    20x2 = 8000 

         x2 = 8000 ÷ 20 

         x2 = 400 

         x2 = 20 × 20 = (20)2

       x = 20 m 

 = 5 × x = 5 × 20 = 100 m 

 = 4 × x = 4 × 20 = 80 m. 

     = 2 (l + b) m = 2 (100 + 80) m 

     = 2 × 180 m = 360 m 

  = 3.50 

 = 3.50 × 360  = 1,260 

Ex.12 
32.9 m  21.6 m 

Sol.

 = 

    = 2 [32.9 + 21.6] m 

    = 2 [54.5] m 

    = 109 m. 

 = 

 109 m = 

  = m
4

109
4

  = 27.25 m 

 = (27.25 m)2 = 742.56 sq m 

32.9 m  21.6 m 

    = 32.9 m × 21.6 m 
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    = 710.64 sq m. 

Ex.13 12 m × 8.5 m  2.5 m × 1.5 m 

3.75 

Sol.

 = l × b 

      = 2.5 m × 1.5 m = 3.75 sq m 

      = 12 m × 8.5 m = 102 sq m 

    = 102 sq m – 3.75 sq m = 98.25 sq m 

 = 3.75 × 98.25 

    = 368.44 ( ) 

    = 368 ( )  

Ex.14 
3 : 1 675 sq m , 

Sol.  3x  x  

 = 3x × x = 675 sq m 

  3x2 = 675 sq m  


3

675x2   = 225 = 15 × 15  

x × x = 15 × 15  

x = 15 m 

  = 3x = 3 × 15 = 45 m 

 = x = 15 m.    

Ex.15 6 sq m 

(i) sq cm   (ii) sq mm  

Sol.  (i)  1 sq m = 100 × 100 sq cm 

   6 sq m = 6 × 100 × 100 sq m 

           = 60000 sq cm 

  (ii)  1 sq cm = 100 sq mm 

   60000 sq cm = 60000 × 100 sq mm  

        = 6000000 sq mm 

 6 sq m = 60000 sq cm = 6000000 sq mm    

Ex.16 745000000 mm 

(i) sq cm   (ii) sq m 

Sol.  (i) 100 sq mm = 1 sq cm 

745000000 sq m m = 
100

745000000  sq cm 

         = 7450000 sq cm 

  (ii)  100 × 100 sq cm = 1 sq m 

   7450000 sq cm = 
100100

7450000


 sq m  

         = 745 sq m 

 745000000 sq mm = 7450000 sq cm 

         = 745 sq m    



P

Q S R

 (PQR)  = 
2
1  × QR × PS 

PQR  = 
2
1  × QR × PS 2 


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A

C B

ABC  = 





  ABBC

2
1 2 

ABC 

 = 
2
1 × ( ) 2 



A

B D C
a

a a

ABC 

 = 
2
1  × BC × AD 

 = 
2
1  × a × AD      ....(i) 

ABD 

 AB2 = AD2 + BD2

 a2 = AD2 +
2

2
a








  ( ) 

 a2 = AD2 + 
4

a 2
 2

2
2 AD

4
aa 

2
22

AD
4

aa4




  AD
4
a3 2



AD
22

aa3





2
3aAD 

 (i) 

ABC  = )a(
4
3

2
3aa

2
1 2 2 

ABC  = 
4
3 × ( )2 2



A

B
D

C

b

a a

b/2 b/2

ABC  = ADBC
2
1



ABC  = 
2
1  × b × AD ……(1) 

ABD , 

    AB2 = AD2 + BD2 ( ) 

       a2 = AD2 + 
2

2
b






  (

) 

AD
4
ba

2
2 

 (1) ,  

ABC  = 














4
b

ab
2
1 2

2 2 
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 

Ex.17 

(i)  (ii)

  (iii)  (iv)

12 cm

7.5 cm

Sol.  (i)   = 6 cm  = 5 cm. 

  = 
2
1 ×  × 

   = 
2
1  × 6 cm × 5 cm = 3 cm × 5 cm  

   = 15 sq cm. 

  (ii)  = 3.2 cm  = 2 cm 

 = 
2
1  ×  × 

   = 
2
1  × 3.2 × 2 = 3.2 cm × 1 cm = 3.2 sq cm 

  (iii)  = 6 cm  = 7.4 cm 

 = 
2
1  ×  × 

   = 
2
1  × 6 cm × 7.4 cm = 3 cm × 7.4 cm  

   = 22.2 sq cm. 

  (iv)  = 10 cm   = 7.5 cm. 

  = 
2
1  ×  × 

   = 
2
1  × 10 cm × 7.5 cm = 5 cm × 7.5 cm  

   = 37.5 sq cm.  

Ex.18 
60 cm  600 sq 

cm 

C

BA
60 cm

Sol.  = 
2
1  ×  × 

  = 2 × .cm20
60
6002






 ABCD  AD = BC = 5 cm 
AB = DC = 7 cm, 

D C

7 cmA B

5 cmII
I

 ABCD  = ABD  + BDC 

 ABCD  = 2 (ABD ) 

   (ABD = BDC ) 


2
1  ABCD = ABD 

2
1  ABCD  = BDC 

 ABCD 
5 cm 

D C

A B

5 cm

I

IV II
III

O
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 = (I  + II 

+ III  + IV ) 

4
1 ( ) = 

     (  ) 

 ABCD  AB || CD,  
BC || AD 

A D

B C

N

M

(ABCD) 

 =  × 

 ABCD 

= (BC × AM) 2

 ABCD  = (CD × AN) 2

,  

 (i)  =  × 

 (ii)  = 

 (iii) = 

 

Ex.19 

I II III

IV V VI

10 cm

(A)

I
II

IV
III

10 cm

(B)

I

II

10 cm

(C)

Sol.  (i)  (A) 6 

 = 6 × 

  = 
6

   = 
6

610  sq cm = 10 sq cm. 

  (ii)  (B) 4 

    = 
4

    = 
4

610  sq cm = 15 sq cm 

  (iii)  (C) 2 

, 

    = 
2

    = 
2

610  sq cm = 30 sq cm.  

Ex.20 6 cm 

Sol.  
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   = 
2

 = 
2

66  sq cm = 18 sq cm. 

 = 18 sq cm.     

Ex.21 
 8 cm,  7 cm  6 cm 

Sol.  

7 cm
6 cm

8 cm

 =  × 

        = 8 × 7 sq cm = 56 sq cm 

Ex.22 

cm
2
11

(i)

cm
3
24

(ii)

7.2 cm

3.4 cm

Sol. (i) 

     =  ×  = cm
2
11cm

3
24 

      = .cmsq7cmsq
11
17cmsq

2
3

3
14







  (ii)  =  × 

        = 7.2 cm × 3.4 cm 

             = 24.48 sq cm.

Ex.23 
 867 sq cm 

Sol.  

=  ×  = b × h 

b × h = 867 sq cm ( ) 

 = b; = 3b 

   (b × 3b) = 867 sq cm  

3b2 = 867 sq cm 

b2 = 
3

867  sq cm = 289 sq cm 

 b × b = 17 cm × 17 cm  

   b = 17 cm 

 h = b = 17 cm ;  

 b = 3b = 3 × 17  

= 51 cm   

 =  EFGH  – 
ABCD 

 

Ex.24 30 m × 20 m 
2 m 
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Sol.  

  = EFGH  – ABCD 

ABCD 

         = 30 m × 20 m = 600 sq m 

  EFGH  = {(30 + 4) × (20 + 4)} 

             = 34 m × 24 m = 816 sq m 

, 

 = 816 sq m – 600 sq m = 216 sq m 

: 

, ABCD 
 EFGH  PQRS 

: 

  1. 
  2. 

  1. 
   =  EFGH  +  PQRS 

 – 

  2.  =  – 

Ex.25  1 m 80 cm 
 20 cm 

 : 
(i) 

(ii) 

Sol.  ABCD 

(i) =  × 
   = (180 + 40) (180 + 40)   
   = 220 × 220    
   = 48400 sq cm [sq cm  sq m ] 

   = msq84.4
100
484

100100
48400




  (ii) 

   = 

       – 

   = (180 + 40)2 – (180)2

   = 220 × 220 – 180 × 180  
   = 48400 – 32400 = 16000 sq cm 

   = 
100100

16000


   [sq cm  sq m ] 

   = 
100
160  = 1.6 sq m       

Ex.26  94 m 
 32 m 2 m 

: 

(i) 

(ii) 
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Sol.  
 ABCD IJKL, MNOP 

EFGH 2 m 

(i)  =  × 

             = 94 × 32 = 3008 sq m 

  (ii)  MNOP  = (32 × 2) sq m  

            = 64 sq m 

IJKL  = (32 × 2) sq m  

          = 64 sq m 

 EFGH = (94 × 2) sq m  

             = 188 sq m 

 QRST  UVWX 

 = (2 × 2) + (2 × 2) = 4 + 4 = 8 sq m 

   = 188 + 64 + 64 – 8 = 188 + 128 – 8 

   = 188 + 120 = 308 sq m 

   =  – 

   = (3008 – 308) sq m = 2700 sq m 

= 2700 sq m 

Ex.27 90 m × 60 m 

3m 
 : 

(i) 

(ii) 110 

Sol.  ABCD 
 EFGH  MNOP 

(i)   = MNOP  +  
EFGH  – IJKL 

     = {(60 × 3) + (90 × 3) – (3 × 3)} sq m 

     = (180 + 270 – 9) sq m = (450 – 9) sq m  

     = 441 sq m  

  (ii) 110 

     = (441 × 110) = 48510. 

Ex.28  40 m × 35 m 
 3 m 

10 

Sol.   EFGH  ABCD 
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A D

B C

F G

E H

35 m

40 m

3 m Path

3 m

EFGH  = EH = FG = 40 m 
  EFGH  = EF = HG = 35 m 
  EFGH  = 40 × 35 m2 = 1400 m2

 ABCD 
 (AD = BC) = 40 + 3 + 3 = 46 m 
 (AB = DC) = 35 + 3 + 3 = 41 m 

  ABCD  = 46 × 41 m2

  ABCD  = 1,886 m2

   = ABCD  – EFGH 
   = 1,886 – 1,400 

 = 486 m2

 1 m2 = 10  


   = (10 × 486) = 4,860     
Ex.29  100 m  80 m 

2 m 
3.70/m2

Sol.  

 PQRS 
ABCD 

 PS = 100 m 

 SR = 80 m 

 PQRS  = 100 × 80 m2 

= 8000 m2

 = 2 m 

AD = (100 – 2 – 2)m = (100 – 4)m = 96 m 

       AB = (80 – 2 – 2)m = (80 – 4)m = 76 m 

 ABCD  = 96 × 76 m2 = 7296 m2

  = PQRS  – ABCD 

  = (8000 – 7296) m2 = 704 m2

 = (3.70 × 704) 

         = 2604.80. 

 704 m2

2604.80 

Ex.30  : 

(i)  PQRS 
 8 cm 6 cm PQS QSR 

P

Q

b

S

R

6 cm

8 cm

  (ii)  RENT 
10 cm  OTR, OTN, ONE 
ORE 

T

R

N

O

E

10 cm

Sol.   (i)  QS  PQRS 
PQS  QSR 
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PQS  =
2
1  PQRS ) 

                = 2cm68
2
1







   = 24 cm2

QSR  = 24 cm2

 (ii)  RENT 
 TOR, ROE, NOE  TON 

TOR  = 
4
1  ( ) 

        = 
4
1  (10 × 10) cm2 = 25 cm2

ROE  = NOE 

  = TON  = 25 cm2

Ex.31  56 cm2

 56 cm 

Sol.

 ‘a’  h 

 = 4a 

         56 = 4a 

    a = 56 ÷ 4 

    a = 14 cm 

 =  × 

   56 = 14 × 

   56 ÷ 14 = 

             4 = 

( ) 
4 cm 

Ex.32  100 cm2

25 cm 

Sol.  

25 cmR

P

Q

h

 = 100 cm2

 = 
2
1  ×  × 

   100 = 
2
1  × 25 × h 

   100 × 2 = 25 × h 

h
25

2100




   8 = h 

   h = 8 cm 

8 cm 

Ex.33 
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B C
E

3 cm

A

2 cm

(iii)

Sol.   (i) ABC  = ADBC
2
1

  = 34
2
1



ABC  = 6 cm2. 

  (ii) ABC  = BDAC
2
1



             = 2.35
2
1



ABC  = 8 cm2

 (iii) ABC  = ABBC
2
1



             = 23
2
1



ABC  = 3 cm2

Ex.34 PQRS  SR  Q 
QM  Q  PS  QN 
SR = 12 cm  QM = 7.6 cm 

(i)  PQRS 

  (ii) QN  PS = 8 cm. 

Sol.  (i)  =  × 

= SR × QM 

  = 12 × 7.6 cm 

  = 91.2 cm2

 (ii)  = PS × QN 

   91.2 = 8 × QN 

   91.2 ÷ 8 = QN 

   QN = 11.4 cm.   

Ex.35 ABC  AB = AC = 7.5 cm 
 BC = 9 cm  BC  A AD = 6 cm 
ABC  AB  C 

?   

Sol.

ABC  = 
2
1  × BC × AD 

= 





  69

2
1 cm2 = 27 cm2

ABC  = 
2
1  × AB × CE 

          27 = 
2
1  × 7.5 × CE 

  2 × 27 = 7.5 × CE 

5.7
272  = CE 

CE
75

540


  CE = 7.2 cm.   
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1. 

2. 

3.  = 2 (  + )  P = 2 (l + b) 

4.  = 4 × P = 4 × l

5.  =  ×  A = l × b

6.  = l = 
b
A

7.  =   b = 
l
A

8.  =  ×    A = l × l

9. 

 = 
2
1  ( )  

= 
2
1  ×  × 

10.  : 

100 mm2 = 1 cm2

 100 cm2 = 1 dm2

 100 dm2 = 1 m2

 100 m2 = 1 are 

 10000 cm2 = 1 m2

 100  = 1 

 100  = 1 sq km 

 1  = 10000 m2. 




